TARGET To convert metric units of measure.

f@ 600ml = D litres
ﬂ?} 3 litres = Dml
) 7.6 litres = _|ml

@ 4130mi =[Jlitres
® o079 litres =[_|ml
€ 8-54 litres = [_|ml

LENGTH WEIGHT CAPACITY
x10 X100 %1000 %1000 %1000
mm cm cm m m km g kg ml litres
B — —_— —_— —
+10 +100 +1000 +1000 +1000
Examples
47mm =47cm  138cm =1-38m 790m =0-79km 809 = 0-08kg 2650ml = 2-65¢
E C
Copy and complete. Copy and complete. Copy and complete.
& 8mm=Dcm 1) 24«mm='|___—lcm : 0 983mm=Dm
@ 13mm:Dcm 6 601 mmIDcm a5841 mm=|:]m
@?\ 7-5cm = Dmm e 5-:9cm ='Dmm e 0-027m = Dmm
@ 02cm = Jmm © 1386cm = ]Jmm @ 0306m = [ Jmm
64’72cm=[__—}m, e1cm=|::lm
@ oscm=[ |m @ 3420cm=| |m
0 3-13m =f|:]cm o 70m = I:lcm
© oosm=[ Jem © 6518m=[ |em
91160m=ka 654m7=l:lkm
@30m=|:]km @2106m=ka
@ os4km=[_|m @ o673km = |m
@% 6~5km=Dm @ 3.02km=Dm @0~009km=|:]m
5 2000g =[ kg ® 6509=[ |kg ® 12979-[ Jkg
) 41009 = Jkg @ 92809=] Jkg @ 329-] |k
B 07kg = Dg @® 0-01kg = Dg ® 0-005kg = Dg
M 82k =[ g ® o096kg = Jg @ 4068kg = |g
(% 1300ml =[_Jlitres @ 7omi =[_Jlitres @ 983mi = litres

@ 5841 mi=[ Jlitres
@® 0-027 litres = _|ml
€@ 0-306 litres = [ _|m|



TARGET To convert between different units of metric measures.

Give the measurement indicated by each arrow in both required units.
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Write as litres and ml.
ER litres gy litres
& : 4 o
eate 98
: £
=1 =5
C B
St
B i

Write as kg and g.
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Write as m and cm.
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Write as cm and mm.
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Write as Iitrés and ml.
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Write as kg and g.
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Write as m"and krh.
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Write as m and cm.
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Write as litres and ml.
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Write as kg and g.
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Write as km and m.
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